PazbueHune oTaes/IbHbIX 4YJ/IeEHOB Ha cJ/iaraemMmsblie
(Kak 6yKBEHHbIX, TaK U YUC/I0BbIX)

1) X"3 + 1991x + 1992 =0
XN34+1992x-x+1992=0

X(XN2-1)+1992(x+1)=0
X(x-1)(x+1)+1992(x+1)=0
(x+1)(x(x-1)+1992)=0

(X+1)(x"2-x+1992)=0

x1=-1 3) XN — xN3 = 13x"2 +x+ 12 =0 X3 + 4x"N2 — 5 =0

2) XN3 —3x"2 +2=0 XA3(X-1)-12XA2-XA2+X+12=0 XA3+E5XAND-xAD-5=()

XN3-2XN2-xN2+2=0 X"N3(x-1)-12(x"2-1)-x(x-1)=0 XA 2(x-1)+5(x"2-1)=0

xX"N2(x-1)-2(x"2-1)=0 xX"N3(x-1)-12(x-1)(x+1)-x(x-1)=0 XA2(x-1)+5(x-1)(x+1)=0

X"N2(x-1)-2(x-1)(x+1)=0 (x-1)(x"3-12x-12-x)=0 (x-1)(X 2+5x+5)=0

(x-1)(x"2-2x-2)=0 (x-1)(x"3-13x-12)=0 x1=1

x1=1 x1=1 XN2+5x+5=0

D=1+2=3 XN3-13x-12=0 D=25-20=5

x2=1-v3 XN3-12x-x-12=0 x2=(-5+v5)/2

x3=1+v3 X(xN2-1)-12(x+1)=0 x3=(-5-v5)/2

3) X744 = X203 = I3xXN2 4+ X+ 12 =0 X(x-1)(x+1)-12(x+1)=0 OtBeT:1;(-5+V5)/2;(-5-v5)/2.
(x+1)(x"2-x-12)=0

4) X 3 +4x"N2 — 5 =20 x2=-1

S5)xN — xN3 = 7/x"2 +x+6 =0 XN\2-x-12=0

XN — XN3 — 6XN2-Xx"N2 + x + 6 =0 x3=4

X(XN3-XN2-x+1)-6(x"N2-1)=0 xA4=-3

X(-XN2-X+(x+1)(x"2-x+1))-6(x"2-1)=0
X(-XN2-x+(x+1)(x"N2-x+1))-6(x+1)(x-1)=0
X(-x(x+1)+(x+1)(x 2-x+1))-6(x+1)(x-1)=0
X(x+1)(x-1)"N2-6(x+1)(x-1)=0
(x+1)(x-1)(x(x-1)-6)=0
(x+1)(x-1)(x"2-x-6)=0

x1=-1 x2=1 X3=3 X4=-2

OtBer:1;-1,4;-3.



